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The author of reading believes Agnostids- they were extinct- might have three types of living. However, the lecturer finds the idea dubious and denies the reason proposed by the reading passage.

The author argues that since the Agnostids were strong swimmers, they could be swimming predators. Conversely, the lecturer conveys that the swimming predators must have great sensory organisms while the Agnostids are almost blind and have poor eyes.

Furthermore, the reading part claims that the Agnostids might live in the seafloor like other arthropods and feed on bacteria and a dead body. While the professor says, the seafloor entities don't move quickly and live in localize areas because they can't swim fast. But Agnostids can swim rapidly and found the fossils in various locations in the earth, which oppose the reading clams.

Finally, the reading states that the Agnostids might be a parasite because some arthropods, which now exist, are parasites, and it can be their primitive generation. On the other hand, the lecturer explained that the parasite population has a limitation: if they feed off a lot from a host, they will kill it. but the Agnostids population doesn't seem has constraint because they found lots of fossils
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